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The J.ehmann-Filht's fdrniula was used and making the transformations,

X = 6y

y = 5A'

z = KM
u = K.bu

the observation pciuations were:
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From these observation equations were derived the normal equations:

0-onn.r - -OSS// + •r)r)22 + 03.'?!/ - •702c + 2 970 =

4- 925?/ - -2452 + V22u - •02(3r - 1 383 =

3-6572 - -SOS?/ + -931!' - 1-360 =

4 •1651/ -3 946r -f22^ 165 =

3-86Sr -20494=0

The corrected elements, with their probable errors, are then the following:^

P =

r =

w =

A' =

7 =

T =

n sin i =

??!,' sin'' i

4 -.39.34 days

•1.56 ± -017

37" -64 + 4° -95

218-44 km. ± 314 km.

-12- 12 km. ± 2-28 km.

.J. D. 2,417,240248 ± 061

13,035,000 km.

= 4^58 o
(w-l-n/i)-

The curve shown represents the final elements with the observations as grouped.
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